Algebra 2 Notes Names J)ﬁswb,
Section 1.6 = Relations and Functions

A \r&\ o o is a pairing of input values with output values. It can be shown as a

set of 0Ydexed ’\‘?O\,-\ s (x,y) where x is an __ v put and y is an
QW puct

The set of input values for a relation is called the domain ., and the set of output

values is called the “FCU\L?\)E y

(x,¥) — (input,output) — (domain, range)
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Example 1: Give the domain and range for each relation.

o {(23).(4-1).(-60).(-8-2)) |E:

First-Class Stamp Rates

o | Year | 1900 | 1920 | 1940 | 1960 | 1980 | 2000

Dowain * Rate 2 2 3 4 15 33
?_g) -, AJH'% (cents)

@M\%e‘ Dowain * E\%OJ\"& 20, 1940, 190, 14%0, ?,ooo§
§-2,-1,0,3¢ Rowoe = 32,2,3,%,15,33§

A relation in which the first coordinate is NEVER repeated is called a Funchown
Ina Lunchon . there is only one output for each input, so each element of the
domain is mapped to _exa.ctl ) one element in the range.

IMPORTANT: Although a single input in a function cannot be mapped to more than one
output, two or more different inputs can be mapped to the same output.

Every point on a vertical line has the same __ X — Coordinate | soa vertical line CANNOT
represent a function. If a vertical line passes through more than one point on the graph of a
relation, the relation must have more than one point with the same _X—coovrdinate,
Therefore the relation is NOT a function.
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To summarize, a function is a relation where each element in the domain has only
corresponding element in the range, or
- given the order pairs, the x's do not
- the graph passes the Ve ¢ ¥ cal
- given the mapping, each domain goes to a

yepeay
line tegt
AiCLeve nd

element of the range

Example 2:

Are the following functions? WHY or WHY NOT?
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g. Is it a function if mom is the
domain? Why or why not?
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h. Is it a function if the sons are
the domain? Why or why not?
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Last names and social security | i.

numbers names are the domain? Why or | security numbers are the domain?
why not? Why or why not?
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